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T (Qllestmns 11—20) (b) 116

i DIRECTION In each of quesnuns 11 to 20 (c) 112

_belﬂw there: is a number series with one term (d) 118

mlssm_g shown by ‘?’. The term is given as one of

the alternatives among four numbers given below

it. Find the term and indicate your answer by 17. 15, 7,30, 20, 60, 40
filling the circle of the corresponding letter of (a) 50

alternatives in the O.M.R. Answer-Sheet. (b) 70
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~ (Questions 21—30)

DIRECTION: In each of the questions 21 to 30,
there are four items, three of which are alike by
SOme means or other while one is out of the class.
Find out the odd item and indicate your answer by

filling the circle of the corresponding letter on the
O.M.R. Answer-Sheet.

[Tt ¢ 21 (A= 30 1S 2rer 208 5RS I A G,
I ot @E 91 @IEeRE 933N 93e A0
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B 30T <of FAETS 96 7 T
21. (a) Mars
(b) Mercury

(c) Jupiter
(d) Challenger

22. (a) Letter
(b) Benign
(c) Beggar
(d) Hotter

23. (a) Pensive
(b) Truthful
(c) Virtuous
(d) Sly

24. (a) Flourine
(b) Bromine
(¢c) Chromium
(d) Chlorine

25. (a) QSU
(b) AFK
(c) DIN
(d) LQV

26. (a) 117
(b) 97
(c) 135
(d) 153

27. (a) Titan
(b) Eris
(c) Urenus
(d) Haumea

28. (a) PONM
(b) TSRQ
(c) HGFE
(d) HGFL

R [5]

29. (a) Beauty
(b) Educated
(c) Creator

(d) Qualify
3}7./ (a) Lung
(b) Kidney
(c) Liver
(d) Eyes

(Questions 31—40)

DIRECTION: In each question below there are
two words separated by ‘:” in the upper row. Below
that there are some words on each side of the
symbol ‘:’. Find the relation between two upper
words and select one word from the right side of
“:” below which have the same relation as above.
Fill the circle of the letter denoting your selected
answer on the O.M.R. Answer-Sheet.
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J1. Kite : Bird
/4 ? : Fish

(a) Boy

(b) Submarine

(c) Crow

(d) Snake

3 Scissors : Cloth
}/ Razor : ?

(a) Hand

(b) Eye

(c) Leg

(d) Hair

y./ Water : Ice
Steam : ?

(a) Heat
(b) Water
(c¢) Boil
(d) Fire
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35/ Octopus : Mollusca

e Spider:.?
~ (a) Arthropoda
P 8 (b) Clean

(c) Porifera
(d) Genus

Plumber : Wrench
Student : ?

(a) School
(b) Study
e ()i Pupil
5 (d) Pen

- 37,/ Piitary : Brain
" Thymus : ?
| (a) Throat

(b) Chest

(c) Spinal Cord

- (d) Larynx
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i Buin:?
" () Head
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38, Heart: Pericardium

(c) PYurrhnea S ; 2o
(d) Eczema ' e

(Questions 41—50) S _
DIRECTION: [n questions 41——50 numbers a

placed in figures on the basis of some rule,s On :
place in the figure is indicated by the mtermgan n i

sign (7). Find out the correct altemauve o
ark and indicate yn

replace the question m
answer by filling the circle of the cﬂrrespunmng

letter of alternatives in the O. M.R. Answer-Sheet. f
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R (a) 27,150 RS
: (b) 64, 160 e
o (c) 27,160 i

(d) 64, 150 f

(a) 442
(b) 616
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